B : FEr314 48 1H
E . £ 24 3/831H

FREE TREISE—RIFNRITFEE

IR A D EB — k=&t (BfA: [)
i E”E*i; wraE | TEE | paeomo)

1. &% 32,670, 000| 32, 505, 000 165, 000
1. RE=E 4,270,000 4,270,000 0
2. BERE 6, 300, 000 6, 300, 000 0
3. RERE 20, 400, 000| 20, 235, 000 165, 000
4. BR%RI=E 1,400, 000 1, 400, 000 0
5. WHAl=E 300, 000 300, 000 0
2. RS 265, 000 265, 000 0
1. SHEELIA 2695, 000 2695, 000 0
3. Xft& 10, 090, 000| 15, 500,000 A b5, 410,000
1. BXRFIMLHEME 7,500, 000 7,500, 000 0
2. BERBEEXWHEE 2,590, 000 1,000, 000 1, 590, 000
3. FLEITLYTA—LEFLEHS 0 7,000, 000f A 7,000, 000
4. BEIA 8, 500, 000 8, 200, 000 300, 000
1. HERER 1, 000, 000 1,000, 000 0
2. FEHMHIXA 2,000, 000 1, 800, 000 200, 000
3. TODMIXA 9, 900, 000 9, 400, 000 100, 000
5. HMUXA 119, 568 111,009 8, bb9
1. HUXA 119, 568 111, 009 8, 559

6. AR 4,695,432 4,065,991 629, 441
1. HFBEHAURHEASR 4,695,432| 4,065, 991 629, 441
]. @me 1,664,905 9,177,264 A 1,512,359
1. e 1,664, 905 9,177,264) A 1,512,359
&t 64, 004, 905 69, 824, 264 A 5, 819, 359




—iR=Et (B4 M)

—— EEH Ea wrEE | TEE | wem-mo)
1. B¥X% 19, 620, 000| 25, 574,000, A 5, 954, 000
1. BEREE 10, 000 10, 000 0
| EERER 10, 000 10, 000 0
2. BLIREXKE 10, 720, 000 8, 200, 000 2, 520, 000
1. IAERRE 1, 050, 000 750, 000 300, 000
2. REESE 850, 000 250, 000 600, 000
3. L HEMRE R E 630, 000 630, 000 0
4 EILIREE 8,090, 000 6, 500, 000 1,590, 000
b EBESEHRER 100, 000 70, 000 30, 000
3. BIAE%E 345, 000 345, 000 0
1. EERAAEIEE 80, 000 80, 000 0
2. BAEXHNE 265, 000 265, 000 0
4. MR KE 150, 000 150, 000 0
1. B E 150, 000 150, 000 0
5. HEXEKE 248, 000 248, 000 0
| P HEENERER 8, 000 8,000 0
2. PN ERESREE 240, 000 240, 000 0
6. ERETHE 600, 000 600, 000 0
. ZEREDE 200, 000 200, 000 0
2. KR TFHE 200, 000 200, 000 0
. EBEHEHE 200, 000 200, 000 0
1. ERXRE 7,000 15,000 A 8,000
| BRXRE 71,000 15, 000 A 8,000
8. HEFHE 40, 000 40, 000 0
L HREFEE 40, 000 40, 000 0
0. shbmEEEEHLELEE 7, 500, 000 7, 500, 000 0
| LA LB EE 7, 500, 000 7, 500, 000 0
10. FLS7LY T+—LESEE 0 8, 466, 000 A 8,466, 000
1. HMEH 0 7,000, 000 A 7,000, 000
2. HEERE 0 230, 000 A 230, 000
3. RIS KE 0 450, 000 A 450, 000
4. BIESEME 0 196, 000 A 196, 000
5. FHuw 0 0 0
6. FEAMRUVEREN 0 90, 000 A 90,000
1. Nt & 0 500, 000 A 500, 000




—— EVER E@ wrEE | TEE | wem-mo)

2. EBE 18, 520, 302| 17, 879, 280 641, 022
| %5Rm 7,820,210 8, 635, 405 A 815,195
1 B8 4,320,000 4,320,000 0

2. BB 2,363,960] 3,028, 600 A 664, 640

3 BB T X 1,136,250 1,286, 805 A 150, 555

) EREAE 1,632,092| 1,505,875 126, 217
| e R 1,282,092 1,305,875 A 23,783

2 FEFIE A 350,000 200,000 150, 000

3. HHER 100,000 100,000 0
| BAFEE 100,000] 100,000 0

4 tE 450,000 450,000 0
ek 450,000 450,000 0

5. BHE 4,100,000 3,390, 000 710, 000
| ARG 590,000 520,000 70, 000

) BIEE 990,000 990, 000 0

3. HRn 100,000] 100,000 0

4 0AS R 5 LR 1,910,000 1,310,000 600, 000

5. SAAEER 120.000] 120,000 0

6. ENRIBA R 40, 000 40, 000 0

1 REE 10, 000 10, 000 0

B REEHA 240,000 200,000 40, 000

0. 558 100,000| 100,000 0

6. SHE 240,000 240, 000 0
p— 40, 000 40, 000 0

). 2 DA 200,000 200,000 0

1. BE 250,000 250,000 0
| B 250,000 250,000 0

5. EWE 520,000 100, 000 420, 000
| BT 520,000 100,000 420, 000

0. ARAE- 2 3,408,000] 3,208, 000 200, 000
| AR 1,200,000] 1,000, 000 200, 000

2 1A% 2,208,000 2. 208, 000 0




—— BER o wrEE | TEE | wem-mo)
3. RHE 25,039, 105| 25, 554, 364 A 515, 259
1. BHE 6,374,200 8,063, 600 A 1,689, 400
EELIREARHRLES 136, 000 694, 000 42,000
2 INREEERAISH BT 1,829, 000 2,739,000 A 910, 000
3AFFEMARHBHS 0 0 0
4 FEMRBENRRHS 1,644,000 1,564,000 80, 000
5. BTt s —EERARIH RS 2,165,200 3,066, 600 A 901, 400
2. BERELESHISHRLS 1,000, 000{ 1,000, 000 0
3. ABEESEISENISHEES 16, 414, 905 7. 755, 264 8, 659, 641
4. BHMESHEISHIIRGEES 1,000, 000 1, 000, 000 0
5. NEHEIRHISHBEHSE 0 1,485, 500 A 7,485,500

6. HMEEFEMEESBIRHBLS 250, 000 250, 000

4 BRE 300, 000 300, 000 0
1. BRE 300, 000 300, 000 0
b. ##& 25,498 16, 620 8,878
1. HE 25,498 16, 620 8,878
6 FlirE 500, 000 500, 000 0
1. FlE#E 500, 000 500, 000 0
XA 64,004, 905| 69, 824,264 A 5,819, 359
Bas 0 0 0
=H 64,004, 905| 69, 824, 264 A 5,819, 359




FRIIEE EEARFINEHINZFHEE

B : 304 48 1H
E . £ 24 3/831H

BADH HREAREAIRE (8 M)
. 1317 5558 MEE | wmmQ)

1. AEE 1,420, 000 1,420, 000 0

| fiEs 1,420, 000 1,420,000 0

2. HURA 1, 000 1, 000 0

1 #ITA 1,000 1,000 0

3. A% 136, 000 694, 000 42, 000

| BAS 736, 000 694, 000 42,000

&&t 2,157, 000 2,115,000 42, 000
XD AEAREARE (B F)
R 31 % H 48 s H - 3 (A)

1. BX%& 200, 000 200, 000 0

| EBRE 200, 000 200, 000 0

| EHREBE 80, 000 80, 000 0

) HEH 120, 000 120, 000 0

2. BEEE 1, 956, 303 1,913, 298 43, 005

| 5 1,626, 750 1,624,825 1,925

| mABRS 1,033, 400 1,031, 800 1,600

) BERTH 503, 350 503, 025 325

2 EREEH 264, 553 253, 473 11, 080

| R ERY 264, 553 253, 473 11, 080

\ BB 65, 000 35, 000 30, 000

| ERaH 60, 000 30, 000 30, 000

) BIEH 5, 000 5, 000 0

3. HE 697 1,702 A 1,005

T 697 1,702 A 1,005

&5t 2,157,000 2,115, 000 42,000




FRIIFEE PMREEXRRISFHINZTFHRE

B : F/314E 4R 1H
E : 5 24 3RA318

A D INREE RIS (B M)
. ‘E”Eﬂz H31 9 5 ﬁg;‘;gg PLERHE - 3 (A)

| %He 40, 200, 000| 40, 300,000 A 100, 000

| ERES 31,200 000] 31,300 000 A 100,000

2 RS 9. 000, 000 9. 000, 000 0

2. BIWA 1,000 1,000 0

T A 1,000 1,000 0

3 A 1.829,000] 2,739,000 A 910,000

| BAS 1,829, 000 2.739.000 A 910,000

= 42,030, 000| 43,040, 000| A 1,010,000

X H D INREE RIS (B /)
—— et B - H31 % 548 Ly HBEE - (D)

| EEEER 599, 300 592, 000 7.300

I HEARER 77, 800 77,000 300

T 52, 800 52, 000 300

) HEIRE 5000 5 000 0

3 RE 20, 000 20, 000 0

2 BETREERESE 124, 000 122, 000 2,000

T 110, 000 108, 000 2,000

) HEIRE 10,000 10,000 0

3 RE 2,000 4,000 0

3 EAEERE 275, 500 271, 000 4,500

I EPEEAES 247,500 243, 000 4,500

) EPEBARE 20, 000 20, 000 0

3 BE 8000 3. 000 0

I SRR 50, 000 50, 000 0

T 10,000 10,000 0

) mERE 10, 000 40, 000 0

5 AEERERE 72,000 72,000 0

I NAEEEERE 72,000 72,000 0

) BEE 38,430, 700| 37, 448, 000 982, 700

| R5E 32,794 202] 32,033 973 760, 229

I MERH 21,376,000 21,390, 800 A 14, 800

) BARTS 11.418,202] 10,643, 173 775,029

2 BHBER 5 143, 067 4,909, 500 233,567

I HaREN 5 143, 067 4,909, 500 233, 567

3 WE 220, 000 240, 000 A 20,000

I HERE 140, 000 130, 000 10,000

) AR 50, 000 80, 000 A 30,000

3. ZOMRE 30, 000 30, 000 0

I FHE 200, 000 190, 000 10,000

T 20, 000 20, 000 0

) ERRE 30, 000 30, 000 0

3 HERRE 150, 000 140, 000 10,000

AT 23, 431 24,527 A 1,006

I 2BA 23, 431 24,527 A 1,006

6. BIE 50, 000 50, 000 0

I BAR 50, 000 50, 000 0

3 G 3,000,000 5, 000,000] A 2,000,000

| ERRLRLGRASIALS 3,000, 000 5.000,000] A 2,000,000

| ERBSRIERNARREE 3,000, 000 5.000,000] A 2,000,000

pen 42,030,000| 43, 040,000| A 1,010,000
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FRBEE AFFEXRFINRFNZFES

B : Fr31%E 48 18
E . 45%0 24 3A31H

WX A DE HEERBRSH (B4 /)
- gﬂmﬂz H31 55 MEE | mm-m)
I BEEER 7,070,000/ 7,000, 000 70, 000
I EHFHH 7.070,000] 7,000,000 70, 000

2. HURA 1,000 1,000 0
1. BIA 1,000 1,000 0

3. BAR 0 0 0
I @A 0 0 0

&%t 7,071,000/ 7,001, 000 70, 000

X HOH HFEEBRLE (B M)
—= DERE - H31% 4 MEE | wm R
I BER 220, 000 220, 000 0
I MAREERR 50, 000 50, 000 0

I MAREERR 50, 000 50, 000 0

) AFBEFETAL 10, 000 10, 000 0

| AEBEFETRE 10, 000 10, 000 0

3 HEBEGEE 10, 000 10, 000 0

I EEBERER 10, 000 10, 000 0

PN TTE—— 150, 000 150, 000 0
ABYV-CAEERE 150, 000 150, 000 0

) EEE 2,155,568 2,715,009] A 559, 441
I A5 R 1.478.800]  1,984,200] A 505 400

1. BERH 1,300,400] 1,786,800 A 486 400

2 WBHETY 178, 400 197.400] A 19,000

2. EHEAR 231,768 285,725 A 53, 957

I HERBRE 231,768 285,725 A 53 957

3. BHE 380, 000 380, 000 0

I BIER 40, 000 40, 000 0

2. MEGRE 80, 000 80, 000 0

3. FILFHH 100, 000 100, 000 0

4 REFMY 160, 000 160, 000 0

4 B 35, 000 35, 000 0

1. K& 35, 000 35, 000 0

5. amE 10, 000 10, 084 A 84

1. 2B 10, 000 10, 084 A 84

6. EiEe 20, 000 20, 000 0

I mEe 20, 000 20, 000 0

3. @Hie 4,695,432| 4,065, 991 629, 441
I —mAHBH 4,695 432 4,065,991 629, 441

I —RAHEEHS 4,695 432 4,065, 991 629, 441

&%t 7,071,000/ 7,001, 000 70, 000




FRIIFE HBERRBIKHNZFES

B : Fr314%E 48 1H
Z . 5% 24 3A31H

FERREA=E (B4 [)

T AEH l H31 55 nEx P gt - (A)

1. $RES 2,100, 000 2,100, 000 0
| EBMARES 2,000, 000 2,000, 000 0

2. BREEE 100, 000 100, 000 0

2. RERFHH 3, 000, 000 3, 000, 000 0
1. EREHE 3,000, 000 3,000, 000 0

3. HURA 1,000 1,000 0
1. HALA 1,000 1,000 0

4. 3L 0 0 0
I BEe 0 0 0

5. 2 A% 1, 644, 000 1,564, 000 80, 000
I BAS 1. 644, 000 1,564, 000 80, 000

&t 6, 745, 000 6, 665, 000 80, 000

HH O SERIBERISEH (8 [)
T ;’Jﬂm - H31 558 mEx He Bt - i (A)
1. BEE 6, 745, 000 6, 665, 000 80, 000
I BER 5. 559,510 5. 522, 151 37, 359

1. BmERE 4,146, 400 4,113, 200 33, 200

) MEETFY 1,413, 110 1,408, 951 4,159

2. fERIELR 008, 857 866, 001 42, 856

1. R ER 908, 857 866, 001 42, 856

3. B 10, 000 10, 000 0

. iR 10, 000 10, 000 0

4 EHR 255, 000 255, 000 0

I HESE 50, 000 50, 000 0

2. BIEE 90, 000 90, 000 0

3. R 35, 000 35, 000 0

4 miES 80, 000 80, 000 0

5. oM 10, 000 10, 000 0

1. BNE 10, 000 10, 000 0

6. WE 1,633 1848 A 215

1. HE 1,633 1848 A 215

2. 1@& 0 0 0
&t 6, 745, 000 6, 665, 000 80, 000




FRSIEE BTt 7 —EERISHNIFPRE

B : Fr314E 48 18
E . 45%0 245 3A31H

WA BT o s—EEEAH (. [
- ‘E’mﬂé H31 548 ilgis B - (A)
T EAEIA 4,780,800| 5,137,400 A 356,600

I REEAE 2,800, 000 2346, 000 454,000
2 Z oA 157, 800 153, 600 1. 200
3 RABEEERH 1,518, 000 2 332,800 A 814, 800
L REEAE 5 000 5 000 0
2 FREIA 30, 000 30, 000 0
T FEEIRA 30, 000 30, 000 0
3. I 1,000 1,000 0
T HEIA 1,000 1,000 0
L GEH 330, 000 330, 000 0
I hEH 330,000 330,000 0
5 BAS 2,165,200 3,066 600] A 901, 400
I —RAHEAS 2165, 200 3.066.600] A 901,400
e 7.307,000] 8,565, 000 A 1,258 000
X H DO BT —EERASs (. [
—— BEH EE H315 248 g EEBLE - 3 (A)
T HER 6,942,000 8,250 000| A 1,308, 000
I o h R 6. 942, 000 8 250.000] A 1,308,000
T 1. 426, 000 1,353, 000 73, 000
) BRRRERR 137,000 134, 000 3,000
3 BREBERE 30, 000 30, 000 0
1 FOCABRERE 28, 000 28, 000 0
5 RA5_BREH 150, 000 150, 000 0
5 BaH 996, 000 900, 000 96. 000
T ETKES 120, 000 120, 000 0
8. A RERE 30, 000 30, 000 0
0. ERE 1,680, 000 1,440, 000 240000
10 AEREH 105, 000 125, 000 A 20,000
1 REIHE 1,200, 000 2.200,000] A 1,000,000
17 ERE 25. 000 25. 000 0
13 BRMLEETE 75. 000 75. 000 0
A BREERE 100, 000 100, 000 0
15 BEEHE Y — A8 540, 000 540, 000 0
16 B AR 300, 000 1,000,000 2 700,000
) BEE 365, 000 315, 000 50, 000
YT 250000 200,000 50, 000
I WARH 0 0 0
) BAETS 0 0 0
3 BEATH 250,000 200,000 50, 000
) BABAER 0 0 0
I HEREH 0 0 0
3 A 5 000 5 000 0
T RE 5 000 5 000 0
1 SBE 110, 000 110, 000 0
I BER 10, 000 10, 000 0
) BEAR 50, 000 50, 000 0
3 ME 50, 000 50, 000 0
&t 7.307,000] 8,565, 000 A 1,258, 000




FRB1EE BRERELESZFIRHNZIFRE

B : /314 48 1H
E 57 24 3A31H

A D EETELESBASH (B M)
T H31 % 5948 TEE | e m(a) =
I BAZ 1,000, 000 1,000, 000 0
[ —BEiEAS 7, 000, 000 7, 000, 000 0
XTI 200 1,000 A 800[FIE%
3 BEs 17,447,800 15, 448,000] 1,999, 800 FiFERHS
&t 18, 448,000 16, 449, 000] 1,999, 000
HEHOH EETELESHASH B M)
- ‘E‘”I?i - H31% 54 nEE EE - (D) % =
1. 1@ 0 0 0
X & &t 0 0 0
FEAESRE 18,448, 000] 16, 449,000] 1,999, 000 REE~ &
it 18, 448,000 16, 449, 000] 1,999, 000
FRSEE KRREEFRISFHISHNXFTRE
B : /314 48 18
ZE .98 24 3A31H
IRA D KBS EERT R BASH (B /)
— H31 % 3248 MEE | e () % =
[ BAZ 17,665, 605 7,755, 264] 9,910, 341
I —RENEAE 16,414, 905] 7,755, 264
2. NEBEIFRHBAS 1, 250, 700 0
2 WA 500 300 ANEEE:
3 mHe 54,028, 100] 46, 272,523 7, 755,571 |miEE@E2
& 71,694, 205] 54,028,087] 17,666, 118
XHOH AIFBIEEERT R BASH B /)
EEME = BIEE " o
- z - H31 % 5048 MEE | e () % =
1. iRHEE 0 0 0
X H&E 0 0 0
FEARISER 71,694, 205| 54,028,087| 17,666, 118| REE~&E
it 71,694, 205] 54,028,087] 17,666,118
FERINEE BRAESHRISFISHINZTFES
B : FEr314E 48 1H
Z . ¥ 24 3A31H
A DE BES ST SRS (i /)
- IERE H315 B4 nEE ELE - L (A) % =
AR 4,000,000/ 6,000,000 A 2,000,000
[ —REHBAZ 7, 000, 000 7, 000, 000 0
2 IRBEERTBAS 3,000,000] 5,000,000 A 2,000,000
2. HURA 200 200 0|FIS%H
3 mHe 33,044, 800] 27,944,511 6,000, 289 i xS
& 37,945,000] 33,944, 711] 4,000, 289
XHOH BRS ST SRS (i /)
- E”I;**E| - H319 B4 nEE HEE - L (A) % =
1 Eme 13,102, 400 0| 13,102,400
RXEAH 13,102, 400 0 13,102,400
EERBIRRE 24,842,600 33,044, 71| A 9,102, 111 REE~BHE
B 37,945,000] 33,944, 711] 4,000, 289
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FERSIEE NEBHEIERISHIZTESE
B ERSIE 47 18
Z . 9 24 38318

L ONOL: SEEMIETBRARE (i F)
BN EF B - BIEE PRV
. - H31 T 54 g LB - (D) &
I #AR O 7,485,500] A 7,485, 500|—#=:
2. #URA 0 0 0FB%H
3. @ 1,250,700  1,275,992] A 25 292[fiFERus
At 1,250,700]  8,761,492] A 7,510,792
ZH O SEERIETBRARE (i F)
ENEF B - BIEE FRTVR
= | 5 | = H31 %ﬁﬁﬁ %ﬁgﬁ tti)(i% Im (A) 1% 4:%_
1. EEH 0] 1,749,509 A 1,749,509
I RHEARRE X 0 1,659,000 A 1,659 0002
2. FIFEI5IH 0 90, 509 A 90, 509|FIE
2 @ind 1, 250, 700 0] 1,250, 700| AFRBEESTH IS HAIKE~
3. B 0] 7,011,983] A 7,011, 983|EA&THOERH
Bt 1,250,700]  8,761,492] A 7,510,792
FROIFE hEBEFEHEEERHISHRZFREE
B TE314 48 1H
E . ©% 2% 3A31H
IRA DS AR AL A B A (B : )
BEH B " BT E e L
= = H31 P 54 L ELERHE - (D) s
I #®AR 250, 000 250, 000 0
2 A 100 100 NEEE:
3. @S 1,391,800 1,141,706 250, 09451 & it &
At 1,641,900 1,391, 806 250, 094
ZH O AR F AR RIRE (B - [)
BER B " Ik S .
= = 5 H31F & %8 T4 LEEGHE - B (A) e =
1. R® 0 0 0
XHEE 0 0 0
EERESRS 1,641,900 1,391, 806 250, 094 | R EFE~ 1R
it 1,641,900 1,391, 806 250, 094
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